SINTW Treees

€9, 93¢ 8LAD. (Write the word meaning)

5930 = 820, OTHD TN = BBV, D = ToBeews, 1853
= 8590, WO = T, ITT = DAS

£3. V0WORAT BT WBAO. (Write the related word)
0. OTD: IB,D i VTD : I5,D

9. BEY : T3 VT 11 BEYMR 1 Ted QS

Q. BRI : WOBVTNG :: BOJNK : D0BTwvaNa

. WRAN : TABW :: DRDADD : TBTD

8. B: Beeed BT 11 BTD : WeedNT), STBBD

Q. B BBNPRY, LB OTEZPEE DB MNP WIAWO. (Join the

words and make meaningful sentences)

0. 0D NESY, BREMDBD SRDBD
9. DF,R TITVIJY BB SOV IDH
8. WB), TV, SRDBD BB

?. BID W3y 3OWTID @eerHID



5. WOTYZT T WODT OTW DWMPY, W3O.(Make 2 words

using the last letter of the words)
SNA -> BN -> 0D
e3%90 -> OR -> Q0

Red -> 33 -> IO

. BYNI DTN 2.0 m%d@m eVB0R0. (Answer the following

in one sentence)

0. DB LD DI DI O woT)?

&.DF, R TSI DI FoNBT Teeed SreDSTRY 5O
QOTD.

9. TNTT Teees B ILBTDB TN oY) ?

V. SNTT Teeed BTG eSarhal SRUMK) WHT FoNd eI
0.

8. deeed oY BODST?

e0.8ees DHIFD Set3 DY) BODST.



